TJMM 15 (2023), No. 1-2, 97-101

ON THE SOLUTION OF A LINEAR MATRIX DIFFERENCE EQUATION

AHMET ÖZDAĞ AND AHMET ÏPEK

ABSTRACT. In this paper we present the closed-form expression for the solution of the linear matrix difference equation

$$X_{n+1} = AX_n + X_n B, \quad X(0) = C, \quad n = 0, 1, 2, \dots$$

which we obtained with the aid of the Kronecker sum, Kronecker product and Vec operator.

1. INTRODUCTION

Matrix equations are important due to their application in many science fields. When dealing with many problems for descriptor linear systems, a matrix equation is often encountered. Since matrix equation is a very hot topic and many relating results can be found in the literature in recent years, a large amount of prior work has been devoted to solving matrix equations. For related references, see [1], [2], [3] and the references given there.

The remainder of this paper is organized as follows. In Section 2, we introduce some definition and properties related to the Kronecker sum, Kronecker product and *Vec* operator are given for reader's connivance. By using the Kronecker sum, Kronecker product and *Vec* operator, closed form solution to the linear matrix difference equation

$$X_{n+1} = AX_n + X_n B, \quad X(0) = C, \quad n = 0, 1, 2, \dots$$
(1)

for $A \in M_r, B \in M_s$ and $X_n \in M_{r,s}$ is presented in Section 3.

2. Preliminaries and assumptions

In this section, we will recall some basic definitions and notations subsequently used in this paper.

Definition 1 ([4]). If A and B are matrices in $\mathbb{R}_{m \times n}$ and in $\mathbb{R}_{k \times s}$ respectively, then the Kronecker product of $A = [a_{ij}]$ and $B = [b_{ij}]$ is denoted by $A \otimes B$ and defined as

$$A \otimes B = [a_{ij}B]_{mk \times ns}$$

=
$$\begin{bmatrix} a_{11}B & a_{12}B & \dots & a_{1n}B \\ a_{21}B & a_{22}B & \dots & a_{2n}B \\ \vdots & \vdots & \ddots & \vdots \\ a_{m1}B & a_{m2}B & \dots & a_{mn}B \end{bmatrix}_{mk \times ns}$$

Definition 2 ([5]). The Kronecker sum of matrices $A \in \mathbb{R}^{n \times n}$ and $B \in \mathbb{R}^{m \times m}$, denoted by $A \oplus B \in \mathbb{R}^{mn \times mn}$, is defined as:

$$A \oplus B = A \otimes I_m + I_n \otimes B$$

²⁰¹⁰ Mathematics Subject Classification. 15A24, 15A69, 15A16.

Key words and phrases. Matrix equations, Kronecker sum, Kronecker product, Vec operator.

where I_m and I_n are identity matrices with mth and nth dimensions.

Definition 3 (([1])). Vec of $A \in \mathbb{R}_{m \times n}$ is denoted by VecA. If we define $A_{.j} = (a_{1j}, a_{2j}, \ldots, a_{mj})^{\mathrm{T}}$, where $1 \leq j \leq n$. Then $\operatorname{VecA} = (A_{.1}, A_{.2}, \ldots, A_{.n})^{\mathrm{T}}$, (.)^T denotes the transpose of the row vector (.).

Note that if $A = [A_1, A_2]$, then $VecA = \begin{pmatrix} VecA_1 \\ VecA_2 \end{pmatrix}$. Now, we give some basic properties of the Kronecker product. If A, X, B are matrices

of given orders then

$$(A+B) \otimes C = A \otimes C + B \otimes C,$$

$$A \otimes (B+C) = A \otimes B + A \otimes C,$$

$$Vec(AXB) = (B^{T} \otimes A) VecX.$$
(2)

Let M_n denote the set of real matrices of order n. Throughout the paper, for $A \in M_n$ we will follow the following notation $A^0 = I_n$, where I_n is the identity matrix.

3. MAIN RESULTS

We give a theorem which will provide us closed form solution to the linear matrix difference equation (1).

Theorem 1. Let $A, I_n \in M_n$ and $B, I_m \in M_m$. Then

$$\left(I_m \otimes A + B^T \otimes I_n\right)^k = \sum_{r=0}^k \binom{k}{r} \left(B^T\right)^{k-r} \otimes A^r.$$
(3)

Proof. Since

$$\sum_{r=0}^{1} \begin{pmatrix} 1 \\ r \end{pmatrix} (B^{T})^{1-r} \otimes A^{r} = \begin{pmatrix} 1 \\ 0 \end{pmatrix} (B^{T})^{1-0} \otimes A^{0} + \begin{pmatrix} 1 \\ 1 \end{pmatrix} (B^{T})^{1-1} \otimes A^{1}$$
$$= B^{T} \otimes I_{n} + I_{m} \otimes A$$
$$= I_{m} \otimes A + B^{T} \otimes I_{n}$$
$$= (I_{m} \otimes A + B^{T} \otimes I_{n})^{1}$$

and

$$\begin{aligned} \left(I_m \otimes A + B^T \otimes I_n\right)^2 &= \left(I_m \otimes A + B^T \otimes I_n\right) \left(I_m \otimes A + B^T \otimes I_n\right) \\ &= \left(I_m \otimes A\right) \left(I_m \otimes A\right) + \left(I_m \otimes A\right) \left(B^T \otimes I_n\right) \\ &+ \left(B^T \otimes I_n\right) \left(I_m \otimes A\right) + \left(B^T \otimes I_n\right) \left(B^T \otimes I_n\right) \\ &= \left(I_m \otimes A\right)^2 + B^T \otimes A + B^T \otimes A + \left(B^T \otimes I_n\right)^2 \\ &= \left(I_m \otimes A^2 + 2B^T \otimes A + \left(B^T\right)^2 \otimes I_n \\ &= \left(B^T\right)^2 \otimes I_n + 2B^T \otimes A + I_m \otimes A^2 \\ &= \left(\frac{2}{0}\right) \left(B^T\right)^{2-0} \otimes A^0 + \left(\frac{2}{1}\right) \left(B^T\right)^{2-1} \otimes A^1 + \left(\frac{2}{2}\right) \left(B^T\right)^{2-2} \otimes A^2 \\ &= \sum_{r=0}^2 \left(\frac{2}{r}\right) \left(B^T\right)^{2-r} \otimes A^r, \end{aligned}$$

the result is true when n = 1 and n = 2. Now, assume that is is true for an arbitrary integer $k \ge 1$; that is:

$$(I_m \otimes A + B^T \otimes I_n)^k = \sum_{r=0}^k \binom{k}{r} (B^T)^r \otimes A^{k-r}.$$

Then,

$$\begin{split} \left(I_m \otimes A + B^T \otimes I_n \right)^{k+1} &= \left(I_m \otimes A + B^T \otimes I_n \right)^k \left(I_m \otimes A + B^T \otimes I_n \right) \\ &= \left[\sum_{i=0}^k \left(\begin{array}{c} k \\ i \end{array} \right) \left(B^T \right)^{k-i} \otimes A^i \right] \left(I_m \otimes A + B^T \otimes I_n \right) \\ &= \left[\sum_{i=0}^k \left(\begin{array}{c} k \\ i \end{array} \right) \left(B^T \right)^{k-i} \otimes A^i \right] \left(B^T \otimes I_n \right) + \left[\sum_{i=0}^k \left(\begin{array}{c} k \\ i \end{array} \right) \left(B^T \right)^{k-i} \otimes A^i \right] \left(I_m \otimes A \right) \\ &= \sum_{i=0}^k \left(\begin{array}{c} k \\ i \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i + \sum_{i=1}^k \left(\begin{array}{c} k \\ i \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &= \left[\left(\begin{array}{c} k \\ 0 \end{array} \right) \left(B^T \right)^{k+1} \otimes I_n + \sum_{i=1}^k \left(\begin{array}{c} k \\ i \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left[\sum_{i=0}^{k-1} \left(\begin{array}{c} k \\ i \end{array} \right) \left(B^T \right)^{k+1} \otimes I_n + \sum_{i=1}^k \left(\begin{array}{c} k \\ i \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left[\sum_{i=1}^k \left(\begin{array}{c} k \\ i -1 \end{array} \right) \left(B^T \right)^{k+1} \otimes I_n + \sum_{i=1}^k \left(\begin{array}{c} k \\ i \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left(\begin{array}{c} k \\ i -1 \end{array} \right) \left(B^T \right)^{k+1} \otimes I_n + \sum_{i=1}^k \left[\left(\begin{array}{c} k \\ i \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left(\begin{array}{c} k \\ i -1 \end{array} \right) \left(B^T \right)^{k+1} \otimes I_n + \sum_{i=1}^k \left[\left(\begin{array}{c} k \\ i \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left(\begin{array}{c} k \\ i -1 \end{array} \right) \left(B^T \right)^{k+1} \otimes I_n + \sum_{i=1}^k \left[\left(\begin{array}{c} k \\ i \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left(\begin{array}{c} k \\ i -1 \end{array} \right) \left(B^T \right)^{k+1} \otimes I_n + \sum_{i=1}^k \left[\left(\begin{array}{c} k \\ i \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left(\begin{array}{c} k \\ k \\ k \\ 1 \end{array} \right) \left(B^T \right)^{k+1} \otimes I_n + \sum_{i=1}^k \left[\left(\begin{array}{c} k \\ i \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left(\begin{array}{c} k \\ k \\ k \\ 1 \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left(\begin{array}{c} k \\ k \\ k \\ 1 \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left(\begin{array}{c} k \\ k \\ k \\ 1 \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left(\begin{array}{c} k \\ k \\ k \\ 1 \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left(\begin{array}{c} k \\ k \\ 1 \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left(\begin{array}{c} k \\ k \\ 1 \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left(\begin{array}{c} k \\ k \\ 1 \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left(\begin{array}{c} k \\ k \\ 1 \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left(\begin{array}{c} k \\ k \\ 1 \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left(\begin{array}{c} k \\ k \\ 1 \end{array} \right) \left(B^T \right)^{k+1-i} \otimes A^i \\ &+ \left(\begin{array}{c} k \\ k \\ 1 \end{array} \right) \left(\begin{array}{c} k \\ k \\ 1 \end{array} \right) \left(\begin{array}{c} k \\ k \\ k \\ 1 \end{array} \right) \left(\begin{array}{c} k \\ k \\ k \end{array} \right) \right) \left(\begin{array}{c} k \\ k \\ k \\ k \end{array} \right) \left(\begin{array}{c} k \\ k \\ k \end{array} \right) \left(\begin{array}{c} k \\ k \\ k \end{array} \right) \left(\begin{array}{c}$$

Thus, by induction, the result is true for every $k \ge 1$.

We are ready to extract a formula for the exact solution of equation (1). The following theorem gives this formula.

Theorem 2. The solution of (1) is given by the following formula

$$X_n = \sum_{r=0}^n \left(\left(\begin{array}{c} n \\ r \end{array} \right) A^r C B^{n-r} \right), n = 0, 1, 2, \dots$$

Proof. Now from (1) and by using the Definition (3) we obtain

$$VecX_{n+1} = Vec(AX_n + X_nB)$$

or an easy calculation shows that

$$VecX_{n+1} = Vec(AX_n) + Vec(X_nB).$$
(4)

From (4) we get

$$VecX_{n+1} = Vec(AX_nI_s) + Vec(I_rX_nB).$$
(5)
a relation in (2) at (5) yields:

Substituting the given relation in (2) at (5) yields:

$$VecX_{n+1} = (I_s \otimes A) VecX_n + (B^{\mathrm{T}} \otimes I_r) VecX_n$$

or an easy calculation shows that

$$VecX_{n+1} = (B^{\mathrm{T}} \otimes I_r + I_s \otimes A) VecX_n.$$
 (6)

From Definition (2) and (6) we have

$$VecX_{n+1} = (B^T \oplus A) VecX_n.$$
 (7)

Now, let $G = B^T \oplus A$ and $x_n = vecX_n$. Thus, from (7) we write

$$x_{n+1} = Gx_n. ag{8}$$

Let c = vecC. Hence, from (1) and (8), we obtain the following equation

$$x_{n+1} = Gx_n, x(0) = c. (9)$$

The solution of (9) is given by the following formula

$$x_n = G^n c, n = 0, 1, 2, \dots$$
 (10)

From (10) we obtain

$$VecX_n = \left(B^T \oplus A\right)^n VecC, n = 0, 1, 2, \dots$$
(11)

By substituting the relation $B^T \oplus A = B^T \otimes I_r + I_s \otimes A$ in (11) we get

$$VecX_n = (B^T \otimes I_r + I_s \otimes A)^n VecC, n = 0, 1, 2, \dots$$

or an easy calculation shows that

$$vecX_n = \left(I_s \otimes A + B^T \otimes I_r\right)^n VecC, n = 0, 1, 2, \dots$$
(12)

elde edilir. From (3) and (12) we have

$$VecX_n = \left[\sum_{r=0}^n \binom{n}{r} (B^T)^{n-r} \otimes A^r\right] VecC, n = 0, 1, 2, \dots$$

Therefore, we can write

$$VecX_n = \sum_{r=0}^{n} \left[\left(\left(\begin{array}{c} n \\ r \end{array} \right) \left(B^T \right)^{n-r} \otimes A^r \right) VecC \right], n = 0, 1, 2, \dots$$
(13)

Now we use relation (2) in (13) and obtain

$$VecX_n = Vec\sum_{r=0}^n \left(\left(\begin{array}{c} n\\ r \end{array} \right) A^r C B^{n-r} \right), n = 0, 1, 2, \dots$$
(14)

Thus, we obtain the solution of (1) by the following formula

$$X_n = \sum_{r=0}^n \left(\left(\begin{array}{c} n \\ r \end{array} \right) A^r C B^{n-r} \right), n = 0, 1, 2, \dots$$

This completes the proof.

100

Acknowledgement

This article is based on the master's thesis titled 'Solutions of Matrix Equations by Kronecker Product' by Ahmet Özdağ, a student at Karamanoğlu Mehmetbey University, Institute of Science, Department of Mathematics.

We would like to express our heartfelt gratitude to the Editor and reviewers for their dedicated work and valuable insights.

References

- Bahuguna, D., Ujlayan, A., & Pandey, D. N. (2007). Advanced type coupled matrix Riccati differential equation systems with Kronecker product. Applied Mathematics and Computation, 194(1), 46-53.
- [2] Lancaster, P. (1970). Explicit solutions of linear matrix equations. SIAM review, 12(4), 544-566.
- [3] Simoncini, V. (2016). Computational methods for linear matrix equations. siam REVIEW, 58(3), 377-441.
- [4] Zhang, H., & Ding, F. (2013). On the Kronecker products and their applications. Journal of Applied Mathematics, 2013.
- [5] Zhao, W. L. (2010). The Property of Kippenhahn Curves of Kronecker Sum and Applications. Advanced Materials Research, 108, 670-675.

KARAMANOĞLU MEHMETBEY UNIVERSITY KAMIL ÖZDAĞ SCIENCE FACULTY DEPARTMENT OF MATHEMATICS YUNUS EMRE CAMPUS, 70100, KARAMAN, TURKEY *E-mail address:* ahmetozdag048@gmail.com, ahmetipek@kmu.edu.tr (or dr.ahmetipek@gmail.com)